








5

https://www.3racing.hk/movies/Cero_Sport_Gear_Differential_Assembly.mp4


6

Click here to watch he assembly of the Solid axle (Spool) and centre pulley.

https://www.3racing.hk/movies/Cero_Sport_Center_Gear_Adaptor_and_Solid_Axle_Assembly.mp4


7



https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Suspension_Arm_Assembly.mp4


M3 x 6mm 
Flat Head Screw
フラットヘッドスクリュー

M3 x 8mm 
Flat Head Screw
フラットヘッドスクリュー

4.8mm 
Suspension Pivot Ball
サスマウントピボットボール

4.8mm 
Suspension Pivot Ball
サスマウントピボットボール

M3 x 6 x 1mm 
Spacer
スペーサー

M3 x 6 x 3mm 
Spacer
スペーサー

3. Front And Rear Suspension Arm Assembly
フロント & リアサスアームの取付け

9



10



11

https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Bulkhead_Installation.mp4


4. Front And Rear Bulkhead Installation
フロント & リアバルクヘッドの取付け

Step 1

Step 3

M3 x 6 x 2.5mm 
Bearing
ベアリング

M3 x 5 x 0.2mm 
Shim
シム

M3 x 8mm 
Titanium Low-Profile Machined Screw
チタン低背加工ネジ

Step 2

Bulkhead B
バルクヘッドー B

Bulkhead A
バルクヘッドー A

M3 x 6mm 
Flat Head Screw
フラットヘッドスクリュー

4.8mm 
Ball Stud L=5
ボールスタッド L=5

Steering Link
ステアリングリンク

4.8mm 
Ball Stud L=5
ボールスタッド L=5

M5 x 8 x 2.5mm 
Bearing
ベアリング

M8 x 12.5mm 
Steering Post
ステアリングポスト

Steering Arm - R
ステアリングアーム - R

Steering Arm - L
ステアリングアーム - L

5mm Countersink Washer
5mm ステアリングワッシャー

M5 x 6.5 x 2.5mm 
Brass Spacer
ブラススペーサー

M5 x 8 x 2.5mm 
Bearing
ベアリング

M3 x 6mm 
Flat Head Screw
フラットヘッドスクリュー

12





14



15

https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Shock_Tower_Assembly.mp4


https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Stabilizer_Assembly.mp4




18



19



8. Front And Rear Knuckle Assembly
フロント & リアナックルの取付け

20

https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Knuckle_Assembly.mp4


21



22



23

https://www.3racing.hk/movies/Cero_Sport_Oil_Damper_Assembly.mp4


24



25

https://www.3racing.hk/movies/Cero_Sport_RC_Unit_Installation.mp4


26



27



28

https://www.3racing.hk/movies/Cero_Sport_Front_n_Rear_Body_Post_Assembly.mp4


29
















	KIT-CEROSPORT_01_cover
	KIT-Cero Sport_02
	KIT-Cero Sport_03
	KIT-Cero Sport_04
	KIT-Cero Sport_05_1
	KIT-Cero Sport_06
	KIT-Cero Sport_07
	KIT-Cero Sport_08
	KIT-Cero Sport_09
	KIT-Cero Sport_10
	KIT-Cero Sport_11
	KIT-Cero Sport_12(2)
	KIT-Cero Sport_13(2)
	KIT-Cero Sport_14(2)
	KIT-Cero Sport_15(2)
	KIT-Cero Sport_16(2)
	KIT-Cero Sport_17
	KIT-Cero Sport_18
	KIT-Cero Sport_19
	KIT-Cero Sport_20
	KIT-Cero Sport_21_1
	KIT-Cero Sport_22_1
	KIT-Cero Sport_23-1
	KIT-Cero Sport_24-1
	KIT-Cero Sport_25-1
	KIT-Cero Sport_26
	KIT-Cero Sport_27
	KIT-Cero Sport_28
	KIT-Cero Sport_29
	KIT-Cero Sport_30
	KIT-Cero Sport_31
	KIT-Cero Sport_32
	KIT-Cero Sport_33
	KIT-Cero Sport_34
	KIT-Cero Sport_35_1
	KIT-Cero Sport_36

